Using the process of communication, compare the parts of the communication model to a process in real life. Draw and label the following:

sender

receiver

message

feedback

interference

EXAMPLE:

Photosynthesis is the process by which plants use the energy from sunlight to produce sugar, which cellular respiration converts into the "fuel" used by all living things. The sun creates energy through nuclear reactions, using the energy stored in the tiny nucleus at the center of atoms. The photosynthetic process releases the oxygen that we absolutely must have to stay alive. 
Sun=sender

Message=rays

Receiver=plants

Feedback=oxygen that is released

Interference=clouds
